
-

-

A TOILET CENTER LINE FROM WALL

B TOILET SEAT HEIGHT

C GRAB BAR HEIGHT

D

E

TOILET PAPER IN FRON T OF TOILET

F

NAPKIN DISPOSAL IN FRONT OF TOILET

G

DISPENSER OR MIRROR HEIGHT

H

LAVATORY AND SINK TOP HEIGHT

J

LAVATORY AND SINK KNEE CLEARANCE

K

URINAL LIP HEIGHT

L

URINAL FLUSH HANDLE HEIGHT

M

DRINKING FOUNTAIN BUBBLER HEIGHT

N

DRINKING FOUNTAIN KNEE CLEARANCE

MEDICINE CABINET

DESCRIPTIONS

DIMENSIONS FOR ACCESSIBILITY

DIMENSIONS

18"

17"-19"

33"

12" MAX.

12"

40" MAX.

34" MAX.

29" MAX.

17" MAX.

44" MAX.

36" MAX.

27" MAX.

44" MAX.

J

K

B

3
3
".

NOTE: FLUSH VALVE ON
THE WIDE SIDE OF STALL

2' - 0" A

6"

CLR.

32" MIN.

CLR.

4'-0" MIN.

2' - 0"

E

D

1
7
".

D
IS
P
E
N
S
E
R
S

F

G
R
A
B
 B
A
R
S

C

GRAB BAR

SEAT COVER / TOILET
PAPER DISPENSER

TOILET PARTITION,
WHERE OCCURS

SANITARY NAPKIN
DISPENSER

PAPER TOWEL DISPENSER/WASTE
RECEPTACLE COMBINATION

HAND DRYER

SOAP DISPENSER

MIRROR

H G

5
' -
 0
"

T
.O
. 
H
A
N
D
L
E

4
' -
 0
" 
M
A
X

5
'-
0
" 
M
A
X
.

K
N
E
E
 C
L
R
.

2
7
".

FINISH FLOOR TYP.

HI-LOW ACCESSIBLE
DRINKING FOUNTAIN

FIRE EXTINGUISHER CABINET

3
' -
 0
"

POWER-ASSISTED DOOR OPERATOR

4
8
".

6
' -
 8
"

3
' -
 2
"

9
' -
 0
"

FINISH FLOOR TYP.

SWITCHES, CONTROL, THERMOSTAT,
SA MANUAL STATION, ETC

TELEPHONE

FA STROBE & ALARM/STROBE

MARKER BOARD

WALL MOUNTED CLOCK

3
' -
 4
"

EXIT

EXIT

>
 1
2
"

T
O
P
 O
F
 A
D
J
 F
R
A
M
E

A
L
IG
N
 W

IT
H

1
2
" 
O
R
 G
R
E
A
T
E
R

3
"

EQ. EQ.4"

EQ. EQ.

5
' -
 6
"

COAT HOOK
DOOR-MTD.
ON THE OFFICE SIDE OF DOOR

4
' -
 0
"

CORNER GUARD

BASE

WALL
CORNER

A
D
A
 C
O
A
T
 H
O
O
K

4
' -
 0
"

4
' -
 0
"

* TYPICAL WALL MOUNTED

  FIXTURE GROUPING

CL

WALL FINISH

1/4" FACTORY METAL SCREWS

1 1/2" DIA. GRAB BAR WITH
14 GA. FLANGE

BACKING, SEE
STRUCTURE DRAWING
8/S-112.

SNAP LOCK FLANGE

LENGTH PER GRAB BAR

INTERIOR FINISH, PER FINISH SCHD

MOISTURE RESISTANT BD. AT
RESTROOM OR CBU AT SHOWER,
SEE WALL SCHEDULE D/A-902

BACKING PLATE,
SEE 8/S-112

METAL STUD FRAMING

1 1/4" DIAMETER
GRAB BAR

CONCEALED
MOUNTING FLANGE

FACTORY TAPPED HOLES
FOR 1/4" SCREWS

PER STRUCTURE

WALL FINISHES, SEE  FINISH SCHEDULE

CONCEAL WALL PLATE & SCREW
FURNISHED BY MANUFACTURER

BACKING, SEE STRUCTURAL
DWG. DETAIL 8/S-112

SOAP DISPENSER

PUSH BUTTON DISPENSER VALVE

GYP. BOARD

P
E
R
 M
F
R
.

V
E
R
IF
Y
 P
E
R
 M
F
R
.

4" MAX.

WALL FINISHES, FINISHES SCHEDULE

GYP. BOARD

WALL STUD, SEE PLAN & WALL SCHEDULE

RECESSED PAPER TOWEL DISPENSER
AND WASTE RECEPTACLE UNIT

#10 SMS SCREWS

2X METAL BLOCKING

OPPOSITE WALL WHERE OCCURS,
SEE PLAN & SCHEDULE

O
P
E
N
IN
G
 W

ID
T
H

1
' -
 4
"

DEPTH.

6 1/2"

MIRROR FRAME

MIRROR

CONCEALED WALL HANGER &
SCREWS, PER
MANUFACTURER

BACKING, SEE STRUCTURAL DWG.
DETAIL 8/S-112

5/8" GWB

WALL FINISHES, SEE FINISH SCHEDULE

2
 1
/2
"

2
 1
/2
"

BACKING PLATE, SEE 8/S-112

2
' -
 9
"

FRONT VIEWSIDE VIEW

24" MIN.

A-900

4

BAR LENGTH TYP.

3' - 6"

BAR LENGTH TYP.

3' - 0"

2' - 0" 1' - 6"

1' - 6"

30"X48" CLR.
FLOOR SPACE

WASTE LINE, S.P.D.

SUPPLY LINE, S.P.D.

WALL STUD

A

SUPPORT CARRIER
STEEL STRUT PER MFR.

SUPPORT CARRIER U-
BOLT ATTACH PLATE
TO STRUT PER MFR.

WASTER LINE, S.P.D.

SUPPLY LINE, S.P.D.

SUPPORT CARRIER
MTG. PLATE PER MFR.

(4) 1/2" DIA. KWIK BOLT
TZ EXPANSION ANCHOR

EMBEDED 3" MIN.

3
6
" 
 A
.F
.F
. 
M
A
X

METAL STUD WALL,
PER PLAN

A. PLAN VIEW

SUPPORT CARRIER STEEL
STRUT PER MFR.,

SUPPORT CARRIER
STEEL STRUT PER MFR.,

A. ELEVATION/SECTION

B

2
7
" 
M
IN
. 
K
N
E
E
 C
L
R
.

S
E
E
 P
L
A
N

4
' -
 6
" 
 M
IN
.

2' - 0"

M
IN
.

1
' -
 6
"

WALL STUD, SEE PLAN

SEALANT ON ALL 4 SIDES

RECESSED FIRE EXTINGUISHER
CABINET WITH EXTINGUISHER

#10 SMS SCREWS

2X METAL BLOCKING

INTERIOR FINISHES, SEE FINISHES SCHEDULE

GYP. BOARD

NON RATED OR 60 MIN ASSEMBLY

V
E
R
IF
Y
 P
E
R
 M
F
R
.

METAL STUD WALL, SEE PLAN

5/8" GWB

CONTINUOUS HANGER BAR

DISPLAY RAIL

MARKERBOARD, SEE INTERIOR ELEVATIONS

1 1/2" #12 SMS TO WALL STUD TYP.

CHALK TRAY

SUPPORT CLIPS @ 16" O.C.

TOP

BOTTOM

FLOOR SLAB

1/2" DIA. KWIK BOLT TZ,
EMBEDED 3" MIN

SHOE

CERAMIC TITLE FLOOR FINISH

11 GA STEEL CORE

STILE

2X CONTINUOUS BLOCKING

INSIDE

VANDAL RESISTANT SCREW,
PER MANUFACTURER,
PENETRATION TO METAL
BLOCKING

HEADRAIL BRACKET, BOBRICK 1090.67
OVERHEAD-BRACED SERIES

TOILET PARTITION PANEL BELOW

HEADRAIL

INTERIOR FINISHES, SEE SCHEDULE

GYP. BOARD

OUTSIDE

NOTES: COMPLETE REVIEW BOBRICK
INSTALLATION GUIDE FOR 1090.67
INSTITUTIONAL SERIES PRIOR TO
INSTALLATION

SEE INT. ELEVATION

CONTINUOUS SLOPE TOPS,
WHERE OCCUR

HOOK

15"X18" WIDE DEPTH,
PLASTIC LAMINATE LOCKER

ADA ACCESSIBLE SIGNAGE
PER MFR.

SEE 15/A-900 FOR
INFORMATION NOT NOTED

4
'-
5
 1
/2
" 
A
.F
.F
. 
M
A
X
 T
O
 L
O
C
K

ADA KEY PAD

LOCKER NUMBER BADGE

CONCRETE SLAB

WALL FRAMING, PER PLAN

DOUBLE TIER 15" WIDE X 18" DEPTH,
PLASTIC LAMINATE LOCKER

#12 SMS X3 TORX HEAD

TYP. BACKING, S.S.D.

CONTINUOUS SLOPE TOPS, ONLY
WITHOUT SOFFIT LOCATIONS

TYP. CEMENT PLASTER ASSEMBLY
OVER GYP. BOARD

M
F
R
.

P
E
R

E
Q
.

V
E
R
IF
Y
 P
E
R
 M
A
N
U
F
A
C
T
U
R
E
R

A-931

1

BASE BOARD, TYP.

FACE OF FINISH

5' - 0"  MIN.

3
' -
 0
"

MAX

2' - 3"

BACK/CONTROL
WALL

FLOOR DRAIN, SPD

FOLDING SEAT

3
' -
 0
"

CL

CENTERLINE OF HAND-
HELD SPRAYER MOUNTING
BRACKET

GRAB BAR

36"x60" CLR.
FLOOR SPACE

CURTAIN,
WHERE
OCCURS

INTERIOR METAL
STUD WALL, PER
SCHEDULE

A-900

17-B

A. PLAN VIEW

S
ID
E
 E
N
T
R
A
N
C
E

3
' -
 0
" 
 M
IN

W
H
E
R
E
 O
C
C
U
R
S

3
' -
 0
" 
 M
A
X

5
' -
 1
0
"

T
O
 T
O
P
 O
F
 M
O
U
N
T
IN
G
 B
R
A
C
K
E
T

4
' -
 0
" 
 M
A
X

3
' -
 5
" 
 M
A
X

2' - 3"

2' - 0"

1
' -
 6
"

TILE, SEE 9/A-502
FOR TYP.
PATTERN

SHOWER HEAD

FLEXIBLE SPRAY
HOSE - 60" LONG MIN

SINGLE LEVEL
MIXING VALVE
CONTROL

L GRAB BAR

FOLDING SEAT

BACKING, SSD

B. ELEVATION VIEW

6
' -
 8
"

SHOWER CURTAIN
HEIGHT, 80" MIN

6
"

5"

(4) 3/8" DIA X 1 5/8" HAS

5"X6"X1/4" PL

1 1/2" O.D. X 33" X 42" WALL
TO FLOOR GRAB BAR

5"X6"X1/4" PL

TYP.
3/16"

ALL SIDES
3/16"

TILE FLOOR, SEE
FINISH SCHD.

3
3
".

4
"

FLANGE WITH TRIM COVER

1" O.D. STD PIPE SLEEVE

SHEET NO:

SHEET TITLE:

DATEISSUES/REVISIONSNO.

CHECKED BY:

DRAWN BY:PROJECT NO.:

DATE:

SCALE:

All drawings and written material appearing herein constitute original and unpublished work of the
Architect/Engineer and may not be duplicated, used or disclosed without consent of Architect/Engineer.

If this drawing is not 30"x42", then the drawing has been revised from its original size.
Noted scales must be adjusted.  This line should be equal to one inch

CIP2 DESIGN-BUILD
PROJECT
BUILDING 4

PROJECT
RECORD SET

Steinberg Architects

As indicated

07012.00

ACCESSIBILITY

A-900

Author

Checker

BUILDING 4
SKYLINE COLLEGE
SAN MATEO COUNTY
COMMUNITY COLLEGE
DISTRICT

11/11/08

 1/4" = 1'-0"1
TYPICAL ACCESSIBLE MOUNTING HT

 12" = 1'-0"4
GRAB BAR AT GYP. BD.

 3" = 1'-0"5
GRAB BAR ANCHORAGE

 6" = 1'-0"6
SOAP DISPENSER MOUNTING

 1 1/2" = 1'-0"7
RECESSED PAPER TOWEL DISP.

 6" = 1'-0"9
MIRROR MOUNTING

 1/2" = 1'-0"10
TYPICAL GRAB BARS MOUNTING

 1 1/2" = 1'-0"11
DRINKING FOUNTAIN

 1 1/2" = 1'-0"8
INTERIOR FE CABINET

 3" = 1'-0"16
MARKERBOARD MOUNTING

 3" = 1'-0"19
TOILET PARTITION FLOOR ANCHOR

 3" = 1'-0"20
PARTITION HEAD BRACKET

 1/2" = 1'-0"14
TYP. ACCESSIBLE LOCKER

 3/4" = 1'-0"15
LOCKER ANCHORAGE

 1/2" = 1'-0"17
TYP. ADA SHOWER

 3" = 1'-0"13
FLOOR MOUNT GRAB BAR


